TH2EERETRBRER

(B : M)
£ FH % #HIERT fHIEEE I BE
— B £ i 71, 160, 636|182 177,786 71,338, 422|%P-2 . P-3
ERBERKSE X 12788335 12,788, 335
EEHEESEEMNEE 8,920 8,920
22
BESEEHKEE 153, 264 153, 264
Al
EREKREE 10, 748,137 10, 748, 137
A
~
BHEHhEERSEE 3,224,504 3,224, 504
#ho 5 M AT AT BRE A
RETHREERE VA — 1,810, 637 1,810, 637
BEREHFEEEME X
& & 28,733, 7197 0] 28,733,797
& K B F ¥ 4,551, 358 4,551, 358
%
T K #E F ¥ 9,189, 002 9,189, 002
AN
~
& S B 13, 740, 360 0| 13,740, 360
woF 113, 634, 793 177,786| 113,812,579




SMM2EE—BESTHEFE (E188) £itx
s A (B - FA)
= + % £ 4 I A O R OBA

1 i
2 K E 5 B
3R T OB % M &
b BB XS
s K X % m E
MoEoE xS
6 EABEBRTHS
] MAEHBERRAS
8 R T - N == I
= pe &
) BEUEEITHS
10 75 % Bl % 1 2
N 5 = & &
Y EEEE.
Bowox &
13 HESRUEES
1 ERERUERH

FHOOFYALRTHF O BBHHEESLREERNS 140,027

SRR ERERRNS (NERBEERES) 13, 600

BEE X H 2 163, 360| SHEREINESLAENS (DEEEEERDS) 5. 600

RMASEEAELAERENS 9, 988

HEARERBA TS A 5846
68 % W 2
178 E W A
8 5 B %

- HHAEES@AS A 983

19 # A & 18, 217 wmonrmq L B RaEEe@AS 19, 200
20 @ i %
21 iy A

S BEE A 10,500

ggéuw BLEBRSHEIRE RAKERRD 1. 000

= &9 = A 15,300

22 fit A 3,800 pro st - MM RANESRE GEREY £ 58 11,000

ﬂ$#ﬁ$¥ﬁ A 41600

s - S - RO RANEEEE (BHEHER) 41,600

B 177, 786




w (84 . FH)
b2 & % F A F X 0O
o
2 % & 0| BHREE 0
3 R % 7
e —ABESAA 10, 000
‘B £ R 140,027) smansmqnzos 7 pases 130, 027
5 7 & 7
6 EMKEXE 0| BHREE 0
1T & I &
BHEREIE 0
9 A ] &
FREBIFANREELEE (NERE) 217,200
10 % ] & 48, 388| EREBEIMEEERE (hERE) 11, 200
REEFLNEAREEEATMRERAEEEE 9,988
1 2 1& -
12 8 X H =
13 ¥ I} 7
b 177,786




